I EHIR pao~a W52 mEs

E}g@@%&@ PR D Tk - Bri:

ﬂ ROHBEL S, )

@® VT xv3 @ V2 xv18 ® V21 +v3

@ ROBEVG ORLERL S, B2
V48

O T ® 35 @T

@ ROH%E, v ORETESLIHELBMCLTRLES 0, m@

® V12 @ V32
® Vb0 @ V63

ROBE, HBIRSHEDHIETL G0,

Ve 3
(D\/g ®\/7
8 6
®3\/2‘ @ 27

@ ROHEEL G, €BRAD)

@D 5V3 xXv20 @ V45 xV15
® V12 +V8 @ V40 V15

V6 =2.449, V60 =7.746 L LT, RDEERDEE L
@ V600 @ V0.6

D

@ ZHERRE 155 F

/1OOJ

@ sxs
®
®
®
@
®
®
(3 s
@
®
®
@
®
®
®
@
©
®
®
@
@
®




WmOSXR BXB @ RAERSf 15%0

D
SR DD - Bk
/100
"D ROFHEEL S, ST @ 5 s
D V6 xV5 @ V2 xV32 @ V45 V5 D
@
@ ronzaonczRLLs. €D ®
® W2 ® o3 ® %5 )
®
@) ROHE, v OFETESLIFEEAHICLTERLEI, m@ 2
O VI8 @ V20
®
® V75 @ V80 g
@
ROBE, HRIBENTOHICERLES, .
V5 3
O T N
@
L L 5EX4
® W3 @ 24 o
@
®
@ ROHEELLSL, TS @
D 52 xvV12 @ V28 xv21 @
5mX 4
®
® V24 V3 @ VA2 +V30 @
®
@
V6 =2.236, V60 =7.071 &L T, ROEEKRDHEZ L, Smx2
@ V5000 @ Vi5 ®
@




I FHR pao~a ms52 mEE

FEIITARIN PO Rk - Bk
ﬂ ROHBEL S, €1

@ VT xV3 @ VIxVI8 ® Val+v3
=V7X3 —V2X18 BAE
V3
~V36 =4
@ ROBEVG DEICERL S, T2
© W ® w5 @ &
VI XVT — Vg xV5 BRE
V16

@ RO#%E, Vv OFRETEZLFEELHCLTRLES D, m@

O V12 @ V32
=V1x3 =16 X2
=V X3 =V16 XV2

® V50 @ V63
=v25X2 =/9Xx7
=25 XV2 =V9 xXVT

ROME, HBIRSHEVHICEBL G,
V2 3

@ NS ) N

_ V2 XV B 3IXVT
V5 Xv5 VT XVT
8 6
® B © AT
_ 8XV2 B 6
3V2 X2 3V3
82 2
C3x2 T3
2X3
V3 V3
@ ROHEEL LS, €SBRAD)

D 5V3 xv20 @ V45 xV15
= 5Y3 X2v5 =V3 XV15 xV15
= 5X2XV3 X5

® V12 +V8 @ V40 +V15
::VTg ::VQ6

V8 V15
:\@7 :v§
\/7 \/g
_ V3 X2 _ 22 X3
V?X\/? V/S‘XV/S‘
VB = 2.409, VBU= 7746 £LT, ROBERBEEL,
@ V600 @ V0.6
/60
=v6 X100 =Y
V6 Xv10 100
=6 X 10 _ v60

10

@ RAERER 155%G

/100

5RX3

5mX3

5mx4

5mX 4

5mx4

10V15

15vV3

<

26

w

5RX 2

24.49

@@@@@@@@@@@@@@@@@@@@@@@@@e

0.7746




I AR pao~a | ZEF mES

FEIIFARN 8B ) rrittom - gk
"D ROHEELLEL, €S

@ V6 xV5 @ V2 xv32 ® V45 +vV5
A5
=V6x5 =2%x32 _¥45
Vo
=64 _ 155
@ ROBEVGORICEEL LS, €2
O W2 @ 43 ) @
=49 V2 =16 XV3 = ://%
@) RO¥E, v OFETESZLIHELGHICL TRLES L, m@
O V18 @ V20
=y9X2 =vV4X5
=v9 X2 =4 X5
® V75 @ V80
=v25%3 =yY16%5
=25 X3 =16 xV5
ROUE, HBIRENGEVHICERL AE L,
o V5 @ —>
V6 V10
:vngﬁ - 5XVI0
V6 XV6 V10 XV10
9 8
® 5 Y T
- 9><\/§ - 8
443 X3 26
_ %3 _ 4
4x3 V@
N 4x+6
N @Xv@

@ zosneinsn, eamEE

@D 5V2 xV12 @ V28 xv21
=5/2 X 23 =4 X7 X3 xXVT
=5X2XV2 XV3 = IXTXVS

® V24 +V3 @ V42 +V30
_ Vo4 _ Va2

V? V%
=V8 - V%
Vo
_ VT XV5
V5 XV5
V6 =2236, VB0 =7.071 £L T, ROEERDEE,

@ V5000 @ V45
=50 X100 =5 X9
=v50 x10 =5 X3

D

@ RAERR] 165 F

/100

V30

5mX3

5mX3

V2

5mX 4

2Vo

5V3

45

5mX4

10v6

5mX 4

14vV3

5mX 2

@@@@@@@@@@@@@@@@@@@@@@@@@e




